BAR: Use the method we have just learnt to find the mid-point between each pair of numbers. Here is an example:

125







    177





151

177 - 125 = 52       52 ÷ 2 = 26     125 + 26 = 151 

1) 132, 288



2) 124, 396

3)    117, 163




4) 229, 699

  5)    386, 922



6) 131, 1144
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AAR: Use the method we have just learnt to find the mid-point between each pair of numbers. Here is an example:
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1052      1052 ÷ 2 = 526         2651

1) 1132, 1288



2) 2124, 6396

3)    3117, 5163



4) 1229, 7699

  5)    338.6, 492.2



6) 61.31, 201.43
Challenge: Can you find the ¼ and ¾ point for question numbers 3 & 4?
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